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1. Find the product of extremes of7:11 and20:6
(i) 41 (ii) 40 (iii) 42 (iv) 220 (v) 45

11 14 18 8

2. Find the product of extremes of — :— and — : —
5 7 19
(0 46 (i) 44 (i) 44 (V) 36 W) 42
i) - i) - i) - iv) - V) -
19 19 17 5 19

3. Find the product of means of4:13 and3:19
(i) 36 (ii) 76 (iii) 41 (iv) 39 (v) 38
2 5 3

11
4. Find the product of means of — :— and — : —
5 5 19 20

(')2 (")3 ("')i (')i (v) 0
) 100 ) 19 (D 5 (V) 75 (v

5. Find the mean proportional of 72and 2

(i) 9 (i) 72 (iii) 144 (iv) 2 (v) 12

6. Find the third proportional of27and9
(i) 3 (i) 81 (iii) 9 (iv) 0 (v) 27

7. Find the fourth proportional of12,2and 30
(i) 30 (ii) 5 (iii) 3 (iv) 8 (v) 2

8. Which of the ratios is proportional to 30 : 5?
(i) 18:6 (ii)) 17:3 (iii) 19:3 (iv) 18:1 (v) 18:3

17_153
9. Invertendo of1—4—126
Q) 31_279 (i) 3_27 (iii) 14 _126 (iv) 17 _14 V) 31_279
14 126 14 126 17 153 153 126 3 27
2 14
10. Alternendo of(-5—4—2
.\ 856 . 8_56 .. 2_6 4_28 .\ 6_42
) =25 () z=3g () 33=25 V) g=25 V) 5=14
20_200
11. Componendo of-6 =60
20 200 6 60 14 140 200 60 6 60



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

5 70

Dividendo of10 =140
Q) 5 10 (i) 15_210 (i) 15_210 (iv) 10 _140 V) 5_70
70 140 5770 10~ 140 570 10" 140
. 19 38
Componendo and dividendo of20 =10
20_40 ,., 1 2 39_78 19 20 39 _78

() 79=3g () 50=40 (D T=% (V) 35=45 V) 55=40

Invertendo of h=-0
qg e
— — h+ o+ e
Q) h—-qg_o-e (ii) CI= (iii) g_e (iv) h+qg_o+e W) h_q
q e h—q o-e h o q e o e
Alternendo of p=k
Xy
- - +x k+
() PEXKEY iy DX iy P=XKZY Gy XY PEETTY
X y y X 3% P p—x k—y
Componendo of -C./=W
i n
(i d_i (i) d+i_w+n i L= (i) d—i_w-n d+i_w+n
won j n a w i n d—i w-n
Dividendoof ="
a f
.a f .. w a w+a i+f ,  w+a i+f wW—a i—f
(i) ==- (i) 5== (i) =" (iv) - =- (v) =
woi i f a f w—a i—f a f
Componendo and Dividendo of g=f{
+b o+ x _ _
Q) b=x (i) g _ (iii) g+ b=o+x (iv) g b=o X (V) g=b
g o g—b o—x b X b X o X

Invertendoofqg:e::d:g

(i) g+eg—e:d+g:d—g (i) g—ee:d—g:g (iii) g+ e:ei:d+ g:g (iv) e:q::g:d (v) qg:d::e:g

Alternendoof h:z::0:a

(i) h+zh—-z:o+ a:o—a (ii) h—z.z:o— a:a liii) h+ z.z:o+ a:a (iv)

Componendoof p:fi:h:/

(i) p=Fff:h—= 11 (i) p:hafi] (i) p+ fp—Ffi:h+ 1 h—=1 (iv) fip::l:h (v) p+ fif:h+ [/

Dividendoofp: b::d's

(i) p+ b:p—bi:d+ s:d—s (ii) p:di:b:s (iii) p— b:b::d— s:s (iv) b:p::s:d (v) p+ b:bi:d+ s:s

Componendo and Dividendooff.a::r:h

(i) firza:h (i) f+ a:f—ar+ h:r— h (iii) f+ a:a::r+ h:h (iv) a:fi:h:r (v)

h.o::zza (v) z:h:a:o

f—a:a:r— hh



. Ifa:b::c:d,then
(i) ab=cd (ii) ad = bc (iii) ac = bd (iv) abc = bcd

. The ratio 2 : 4 is proportional to which of the following ratios?

(i) 4:16 (i) 12:12 (iii) 8:8 (iv) 10:20 (v) 6:24

. Which of the following represents a proportion ?

(i) 31:47::93:188 (ii) 32:48::96:144 (iii) 33:49::66:147 (iv) 34:50::102:100 (v) 30:46::120:138

. Which of the following does not represent a proportion ?

(i) 4:6::8:18 (ii) 9:15::36:60 (iii) 18:24::36:48 (iv) 10:14::30:42 (v) 8:16::40:80

. Ifa:b::c:d,then 'd" is called

(i) extreme (ii) third proportional (iii)) mean proportional (iv) second term (v) first term

. Ifa:b::b:c,then 'b' is called

(i) third proportional (ii) mean proportional (iii) fourth proportional (iv) extreme (v) first term

. Ifa:b::b:c,then 'c' is called

(i) second term (ii) first term (iii) third proportional (iv) mean proportional

. Ifa:b::b:c,then the mean proportional is

(i) a (i) ac (i) b (iv) ¢ (v) bc

If
ab,cdefr
are in continued proportion, then which of the following is true?

ab_bc_cd
bc™ cd  de

(i) ab=bc=cd=de (i) Z:[g:g (iif)

a_c_e

b=~ F

33.

34.

35.

36.

37.

38.

If 24:20::x:15, find 'x'
(i) 21 (i) 19 (iii) 18 (iv) 17 (v) 16

Find the fourth proportional of 30, 25, 24
(i) 17 (i) 23 (iii)) 19 (iv) 20 (v) 21

Find the third proportional of 1 and 6
(i) 39 (ii) 36 (iii) 34 (iv) 35 (v) 37

Find the mean proportional of5and 125

(i) 23 (ii) 24 (i) 27 (iv) 26 (v) 25

If 7,x,175are in continued proportion, find x

(i) 36 (ii) 34 (iii) 38 (iv) 32 (v) 35

Find the mean proportional between4.4and110

(i) 22 (i) 23 (iii) 20 (iv) 24 (v) 21



39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

Find the mean proportional betweenv7 and v252

4. . i .
(iy v42 (i) v39 (iii) v44 (iv) 42 (v) v42

8_56
Invertendo of 9-63
7 ,. 17_119 .. 8 9 . 9 63

() g=g3 () T ="37 (i) ge=g3 (V) g=g¢

8 48
Alternendo of £=30
.8 5 .53 .. 13 78 . 3 18
() 2g=30 () g=zg (i) T =35 (V) 5=34
7_56

Componendo of 4=32

324 .7 4 .. 4 32 . 11 88
() 3=35 () gg=355 (i) ;=g5¢ (V) =55
o 8 64

Dividendo of 516

10 80 .. 8 2 .6 48 . 2 16
) 5 =16 () g3=16 () 53=175 (V) g=¢4
Componendo and Dividendo of ;=164

4.8 .3 6 .. 10 20 . 10 20
() 3=¢ () 3=14 (i) 5="g" (iv) F'="¢

Invertendoof 4:6::16:24

(i) 2:6::8:24 (ii) 4:16::6:24 (iii) 6:4::24:16 (iv)

Alternendoof 4:7::32:56

(i) 4:32::7:56 (ii) 11:7::88:56 (iii) 11:3::88:24

Componendoof 2:7::8:28

(i) 7:2::28:8 (ii) 9:5::36:20 (iii) 9:7::36:28 (iv)

Dividendoof 2:9::16:72

(i) 9:2::72:16 (ii) 2:16::9:72 (iii) 11:7::88:56

Componendo and Dividendoof 5:7::25:35

(iv)

(i) 7:5::35:25 (ii) 12:2::60:10 (iii) 12:7::60:35

17 119

9 63

13_78
3718

11_88
3724

10_80
6 48

10:6::40:24

(iv) 3:7::24:56

5:7::20:28 (v) 2:8::7:28

(iv) 2:7::10:35

10:2::40:8

7:4::56:32

11:9::88:72

7:9::56:72

5:25::7:35



Assignment Key

1) (iii) 2) (ii) 3) (iv) 4) (ii) 5) (v) 6) (i)
7) (ii) 8) (v) 9) (iii) 10) (iii) 11) (ii) 12) (v)
13) (iii) 14) (iii) 15) (ii) 16) (ii) 17) (v) 18) (ii)
19) (iv) 20) (iv) 21) (v) 22) (iii) 23) (ii) 24) (ii)
25) (iv) 26) (ii) 27) (i) 28) (i) 29) (ii) 30) (iii)
31) (iii) 32) (i) 33) (iii) 34) (iv) 35) (ii) 36) (v)
37) (v) 38) (i) 39) (v) 40) (iv) 41) (i) 42) (iv)
43) (iii) 44) (iii) 45) (iii) 46) (i) 47) (iii) 48) (v)
49) (ii)
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